e T &7 ddd A2

lleS

© {z|ot BF) ={2,4,6,8,---}
@ {o|re A5} ={1,3,57,--}

@ {z|zE 109 ¥4} = {1,2,5,10}
@ {z |23 w4} ={6,12,18---}

® {z|2k 501519 AA%) = {1,2,3,4}

® 6eA

3. o

o

A% T &2 A7

Mo

l
® n(g)=1
@ n({a, b, ¢, d} = {4}

n(4)

@ A={x|ze=69 FF}olH n(A) =4

@A:{la 21 3}01% =5

® A={z|z= 120 22 2AA5F}olH n(A)
%)

EEE

T X =

F-5jodat,

{x|x~ 250

) +n({0}) — n(2) °]

flo

T HS A Bo|Uste]d Ac B, BCc Aola, A=

{alas 2891 oF%} & W, n(4) +n(B) ©] Rk 7o}
ok,
e F FARYA AL?

@ {z|zE BRI} 79 71FES)
@ {z|lrt 99 M5 5 H4)
® {aot 11 vlTre] B4}

@ {z|lzv 1<z <290 A4S}

® {aoi 120t 2 4AS)

A A = {a]z= 100]5}2 2
3 9] A it el i Ra=

2

=
QJI:"I_E

, b, ¢}, B={a, c, e} o tist]

1:]1@'1'_'1 Hi, A9 B o] FEAYE He




9- E—@@-A:{lﬂ 2a 3) 4}?32{1’ 2’ 3’ 4’ 5’ 6} Oﬂ
date] o 3 g2 AL B B}
[ ]
K7

10. n(A) =16, n(B) =10, n(AUB) =24 & T, n(AN
B) £ T-stofzt,

11. & Hg A, B Atole] A7} A
o} dl tholo] 1M a}t 2y A B
A= {z | 2= 369 o},
B={r|ot] |l
A, [ ete] BojZ
= A2
@ 6 @12 O®18 @24 G 36

i

12. 7} A2)e] 5:749] ol 5 Wi} 4L & Aa] Ao
Fsfofet.

13. 572 Zofohi sPo] 21 1, 578 %o

Y, E7% TS 0T E

Kolsh shge 6 Holek. of o, F7a HolshAut
$7E Fobsh SIS BE ¥ 9ol Fatelet,

14. 5 A A =

3
{4, 3a, 5—1—1}, B

{a, a+1, da—3} o tist] 4 - B = {2} &
o, A 9] ghg Fatolal.
15. A Ao A N o FRH% A, B 7 A4

A={zlr=p+2¢,p€e N,ge N},
B = {z]z= Btk 2 4495} 4 o,
2 Ftofet

n(A¢ U B)¢ 9




